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ot = i
(B 53) B e TR
A R6 R6 R6 R6 R6 R6 k6 R6 R6 k6 R6 R6 k3 BT a v 7 F &F
S E ‘ 1H 28 3H 4H 5H 6H 7H 8H 9H 108 118 128 & (o) [B4& %ﬁﬁﬂifh%ﬂaﬁ (TR | & (od) 4?:& %
6 1% % 3¢ 2,084 2,833| 2.926] 2.454| 2,279] 2,064] 2.181| 1,793| 1,857| 1,766| 2,048] 2,949] 27,733| 98.0%| 117.9%] 1,344] 97.065] 97.6%
I & 134 325 270 406 270 182 199 157 184 278 252 185] 2,842 3.0%] 82.74 123|  2,796]  98.4%
iy | bR 13 8 40 33 18 6 40 79 153 24 60 20 494 0.5%] 38.3% 27 358]  72.5%
g | GRBE 1344} 1,577] 1,774] 1,838 1,870] 1,614] 1,823] 1,622] 1,837| 1,876] 1,905| 1,795] 20,425| 91.3%| 12L 6% 1,601 18,957 92 8%
@Y g Z 0 M 3,230/ 3,928] 3.757| 3,613 4,087 3,428 3,364 2,815] 4,815] 3.595| 3,628 4,272 44,482] 46.3%] 124.7%| 2.585] 44.199] 99.4%
__dt 7,305 8.670) 8767\ 8344 7,974 17,294] 7,607 6,466 8 896] 7.539] 7,803 9,221] 95,976] 100.0%| 118.9% 5.680] 93375 97.3%
BLAELL % | 127. 26| 125.3%] 147. 7] 134.5%] 135 9%] 121.9%] 114.5%| 104.3%] 128 0K| 06.6%| 101.8% 106.9%1 118, 9% 114. 7% 118.7%
= [ (T 418 499 183 482]  450] _ 436] 472 395 543 472 483]  547] 5,680
> | % (m) 7,123) 8,436| 8517| 8103| 7,757| 7,071 7.383] 6,285 8.664| 7.302] 7,707 9,027 93.375
> [ & X % 97.5%| 97.3%| 97.1%| O7.1%] O07.3%| 096.9%| o7.1%| 07.24] o7.4%| 06.0%| o7.64 o7.04] 97.34)
CROE])) @1 RHED (204 3. BEREHLETHS,
= RS | e [ ik [a—vor{aer=r|770 0] w@m |eoersr] aat
| R () 16, 333 616] 7,665 20 1] 19,874| 51,467| 95,976
| % 1706 0.6% 8.0% #&| #&| 20.7%) 53.7% 100.0%
HISELL 96 | 114. 1%] 110.0%] 291.4%] 400.0%] 2#8[ 113.8%] 112.6%] 118.9%
7 [ A% (TRU) 824 33 277 1 0| 1,352[ 3,193] 5,680
7 | #& (of) 16,134 587| 7,625 20 0] 19,566] 49,443] 93,375
+ | k& % 98.8%| 95.3%[ 99.5%] 100.0% -|98.5% 96.1%] 97.3%
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A k6 R6 R6 R6 k6 R6 R6 R6 R6 k6 R6 k6 & it T v 7 T &
| 1H 2H 3H 45 55 65 7H 8H 9H 10 | 1A | 128 [|%& (o) [SI&  %[ATfEH %[ (T00) [ () [ LR %
Wk E 124 87 174 116 58 58 87 200 17 402 429 200] 2. 106] 1264 119.5% 74]  2,106] 100. 0%
w2 # 161 113 0 170 55 76 399 105 0 55 54 108] 1,296  7.84[  60.0% 49] 1,296 100. 0%
— 1% 1% bR 0 0 0 0 0 0 0 0 0 0 0 0 0[- 28 0 0 -
g‘[ b2 % 5, 63 59 50 40 50 52 63 57 62 70 62 64 692] 4.2%] 98.2% 33 692] 100. 0%
@ g Z o 819 715 931 942] 1,041 867 840 1,074| 1,344] 1,527] 1,433[ 1,047 12,580 75.4%| 104.8% 404| 12,572]  99. 9%
&t 1,167 974] 1.155| 1,268] 1,204] 1,053 1,389] 1.436] 1,577| 2,054] 1,978] 1,419 16,674] 100.0% 100.1% 560] 16, 666] 100. 0%
il 4% 1 % 87.6%| 67.9% 70.9% 87.5%] 903.1%] 109.8%] 189.2%| 77.6%| 95.6%| 156.1% 122 9% 101 4% 100.1% 94.8%| 100. 0%
3 @& (TEU) 40 34 38 44 39 36 45 49 53 69 65 48 560
7 [ EE () 1, 167 974| 1,155| 1,268| 1,204] 1,053 1,389 1,436] 1,577] 2,054] 1,970] 1,419 16, 666
7 1 e ¥ 9% | 100.0%] 100.0%] 100.0%| 100.0%] 100.04] 100.0%[ 100.04] 100.04] 100.04] 100.0%] 99.6%[ 100.0%| 100 0%
(B @2 WMAEY [Zofhl & BRAKETHS.
Tt B ek [ ik (oo e =r[7 700 wm [eowror| agt
| () 0 39 0 0] 13,139| 3,496] 16,674
w |H & % = - 0.2% - -] 78.8%] 21.0%| 100.0%
HIAEH % = -| 7804 - -] 114.9%]  67.5% 100. 1%
2 |__fE% (TEU) 0 0 1 0 0 429 130 560
7 | BE (of) 0 0 39 0 0] 13,131] 3,496] 16, 666
> | & E % - -|_100.0% - -1 99.9%] 100.0%] 100. 0%




